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Ответ: 2Н
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Ответ: 0,16Н
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   I=4А,l=0,5 м, 
[image: image14.wmf]
                                    В=1,2Тл,
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                                  FA=1,2Тл*4А*0,5м=2,4Н

Ответ: 2,4Н
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   I=0,5мА,l=70 см, 
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                                  FA=2Тл*0,5*10 -3А*0,7м=0,7мН

Ответ: 0,7мН
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                                  FA=0,4*10 -3Тл*7А*0,1м*1=0,28мН

Ответ: 0,28мН

Дано:                            
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I=2A                         
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Ответ: 1,25 Тл
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Ответ: 300
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FА=0.425H              

[image: image44.wmf]a

=600                     

B=0,4Тл         


4.

Решение: 

F=BIlsin
[image: image45.wmf]a

 -закон Ампера

I=
[image: image46.wmf]a

sin

Bl

F

,

I=
[image: image47.wmf]0

60

sin

*

05

,

0

*

4

.

0

425

.

0

м

Тл

H

=
[image: image48.wmf]м

м

A

H

H

*

*

3

2

*

25

.

21

=25A

I =?            
Ответ: 25A.

Дано:                            

l=20см=0,2м             

m=4г=4*10-3 кг           
I=10A                         


5.

Решение:
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По условию Fт =FА,  Fт =mg  FА =BIl, т.к.  I
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Направление определяем по правилу левой руки: от нас .
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